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In a joint RAN3/RAN1 meeting RAN3 asked RAN1 the following lists of questions. The answers were provided by RAN1 and are provided to RAN1, RAN2, and RAN3 for information. Additionally RAN3 is asking for input from RAN2 on question 9. 

1. HSDPA open issues in RAN3 (15/05/02)
	
	Parameter
	Determined by (current RAN3 assumption)
	Questions
	Answer

	1
	CQI Feedback Cycle (k1, k2)


	Node B
	In the RAN3 specification, Node B provides 2 values (one for non-SHO and the other for SHO) and RNC give the indication which k value shall be used. Is this correct/efficient signaling? Or should RAN3 consider the k value as same way as other parameters? (i.e. SRNC sends a SHO indicator and Node B decides the value and return it to SRNC.)

Note. This k1 and k2 value is not related to Active/Non-Active k1/k2, which has been discussed in Lucent contribution. RAN3 hasn’t considered such kind of parameters so far.


	The UE is aware of one K value see also answer to question 2. 

	2
	Do we need to be able to change the k values during call?
	Currently Node B decides 2 values and use through out a call. 


	Currently, Node B provides 2 values (one for non-SHO and the other for SHO) 

Is it acceptable for RAN1, if RNC gives the SHO indication to Node B then node B provides only one value of k?(used k value can be more than 2)
	Node B can suggest a K value throughout the call. The SRNC can take the suggestion and update K in the UE and the Node B. 

It is open whether the Node B request is a suggested value, or a required change. It is also possible there are reasons why the S/CRNC might need to set the value (e.g. RRM). 

	3
	 CQI Feedback Offset (l)
	SRNC
	Currently SRNC decides and sends it to Node B with value range INTEGER (0..79,…). But considering that l is closely related to k (feedback cycle), shouldn’t Node B decide the l value, as well?
	Feedback offset has been removed by RAN1

	4
	CQI Repetition Factor
	none
	Who should decide the value (Node B or SRNC)? If Node B has to decide the value should SRNC indicate SHO status? Should this value be changed according to the number of SHO legs? Should this parameter be also changed by according to other factors e.g..radio conditions?
Should CQI Repetition Factor and CQI Power Offset be determined by the same UTRAN node?
	It should be possible to update during connection, it could be set/modified because of Radio conditions. 

	5
	ACK/NACK Repetition Factor
	none
	Who should decide the value (Node B or SRNC)? If Node B has to decide the value should SRNC indicate SHO status? Should this value be changed according to the number of  SHO legs?

Should this parameter be also changed by according to other factors e.g..radio conditions?
Should ACK/NACK Repetition Factor and ACK/NACK Power Offset be determined by the same UTRAN node?

Is ACK/NACK Repetition Factor one value or should we define ACK Repetition Factor and NACK Repetition Factor separately?
	It should be possible to update during connection, it could be set/modified because of Radio conditions or UE capabilities. Since the repetition factor has a direct impact on throughput, the RNC needs to have input. The SRNC should set the initial value and the node B could suggest changes throughout the call but the RNC is responsible for updating the Node B and UE. ACK/NACK is a single parameter

	6
	HS-PDSCH Power Offset
	none
	Which UTRAN Node should set HS-PDSCH Power Offset? How often and under what conditions should the power offset be changed?
	The CRNC should determine the offset and it can be a cell parameter in the Node B. 

	7
	CQI Power Offset
	none
	Who decides this value: SRNC or Node B? If it isn’t Node B does Node B need this information? If it is Node B, then in which case Node B has to change the value? Should SRNC send the SHO status indication to Node B? Is the number of SHO leg important to decide PO?

Should this parameter be also changed by according to other factors e.g..radio conditions?
	Same as CGI repetition factor. 

	8
	ACK/NACK Power Offset
	none
	Who decides this value? If it is Node B, then in which case Node B has to change the value? If it isn’t Node B does Node B need this information? If it is Node B, should SRNC send the SHO status indication to Node B? Is the number of SHO leg important to decide PO?

Should this parameter be also changed by according to other factors e.g..radio conditions?
Is  ACK/NACK PO defined as a single value or should we define ACK PO and NACK PO separately?
	Same handling as ACK/NAK repletion factor except two values (one for ack and one for NACK). Except that it might have separate reasons for update. For all power offsets the interactions between SRNC and DRNC should be the same as power offsets for DCH. 

	9
	General question: How to convey the parameters above from Node B to UE?
	
	For the parameters which should be decided in Node B, should the Node B send them to SRNC(using Iub and Iur signaling), which will forward them to UE (using RRC signaling)? Or do RAN1 and RAN2 consider the possibility to send them directly from Node B to UE with MAC-hs messages? Since we are currently assuming that we use Iub and Iur and RRC signaling, in the  case that MAC-hs signaling is possible, which parameters should  be sent using MAC-hs signaling and which should use Iub/Iur and RRC signaling?When considering which parameters should use MAC-hs signaling RAN3 would like RAN1 and RAN2 to keep in mind whether the SRNC/CRNC should be aware of changes or have some over all control in the values of parameters for RRM purposes. 
	RAN1 is assuming Iub/Iur/RRC signaling. 

Any updating using MAC-hs must be synchronized between Node B and RNC over robust signalling.




